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GCSE Mathematics

Practice Tests: Set 8
Paper 3H (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

¢ Use black ink or ball-point pen.
¢ Fillin the boxes at the top of this page with your name,
centre number and candidate number.
Answer all questions.
Answer the questions in the spaces provided
— there may be more space than you need.

s Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The total mark for this paper is 80
¢ The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it.
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL questions.

A’Qﬂﬂ% and Q_anje,

Write your answers in the spaces provided.

You must write down all the stages in your working.

Three numbers have

amean of 17
a median of 20
a range of 27.

Find the three numbers.

W=wp

rcmﬂe. =2}

Suppose the mumbess e L Y EZ

if‘tj-i—‘%__.:r:’.
3

'-J:.?.O

- > =

- -

x+ytz = S|

= . x+wot+rz =S

W+ =3

2, =29

(Total for Question 1 is 3 marks)
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2
4 Diagram NOT
accurately drawn
67°
E
ABCD is a parallelogram.
EDFC is a straight line.
(a) (i) Write down the size of angle x.
et
(ii) Give a reason for your answer. )
................... Alemade. angles. on. pumbled.. uners.. 2qued.
(2)
(b) Work out the size of angle y.
. N A &
ABCD s e ﬂBC,'#ﬁnﬂrD =l&00 (OO MW’Y‘CY)
Pamiwmarm
2 20" =60 AT
CF8 = IR0 ~-120 = —
Aiemots avyles
o ° ° 2
6F + 60 + =180
J <
0
I«L}-.}-U' = (80 (2)
o (Total for Question 2 is 4 ks
j., = s_s Q is 4 marks)
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Wcﬂ Tewoles

The table gives information about the number of trees in each of 20 gardens.

Number of trees (.|| Frequency TTeta ) Taeos
0 T 2 o
1 4 7 >
2 M 3 =
3 G 4 s
4 \A 3 Vi
3 10 1 S
.~ P
(a) Work out the total number of trees in these gardens. ToTaL: (g
4L
(2)
(b) Find the median number of trees in these gardens.
Medion = (O“‘“ Yeron
= 2.
1
CO I @22 =
R = (Total for Question 3 is 3 marks)

Charlotte earns £8.50 per hour.
She gets a pay rise of 6%

Work out how much Charlotte earns per hour after her pay rise.

oo/ — £8.50

2ieo)| | 4 = £0.08F%

(x&) | &/. =%£0.7)
£8.Sot £0.5I

p—

Pe/w\}u%a.mw&

(Total for Question 4 is 3 marks)
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(a) On the grid, enlarge shape P with scale factor 3 and centre 4.
(2)

=V

(Total for Question 5 is 5 marks)
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A plane flew from Sydney to Wellington.

The distance the plane flew was 2240 km.
The average speed of the plane was 805 knv/h.

Work out the time taken by the plane to fly from Sydney to Wellington.
Give your answer in hours and minutes, correct to the nearest minute.

2 =20 |em
S =80Swih
T=

P

a—

<
2240l
BOSm/ln

2.7826 -

—
—

oa oy

o. m‘(';fj)

reennen. hoOUTS

- S B s W Frvend

minutes

.........................................

(Total for Question 6 is 3 marks)

7  Solve the simultancous equations

v=4x
Tx—y=-13.5

Show clear algebraic working.

Suo (D) e @ @:-
Fx-(bx)=-\
DX

=) x

Pt x=.Sinte O

T

?z.-—:‘:_ {5 §

S

o ¥
==135:-5
= - S

= L#(-L\..S")

\'%

X=

\
.............................. E.....--.-.u-v.--..-.."

(Total for Question 7 is 3 marks)

y=
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8 A, B and C are three cities.

North North
L A
\ 43 km
A Do Y
70km
B
City C is due east of city 4 and due north of city B.
City 4 is 43 km from city C and 70 km from city B.
Work out the bearing of city B from city 4.
Give your answer correct to the nearest degree.
® Soickitrol
ﬂ "‘l'}hm C
ces© = &
H
cos & = 3
30
& = $2.046..
o =
L ]
2 a-fl@.fc & = q0+& = 142

Diagram NOT
accurately drawn

......................................................

(Total for Question 8 is 4 marks)
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Simgifgng

9  Simplify (3a*h*)?
2, % W
= 200ht x 2oLb x 3 b

- 236" 230 b

.......................................................

(Total for Question 9 is 2 marks)

10  Solve the inequalities -5<2p+3<13 S o\m\:fj \ha-er.ql.g\\'e,S
—~SE2pTD {3
(3) [-3 £2P <10

G2y [~ S P =5

.......................................................

(Total for Question 10 is 3 marks)
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11 A group of 15 businessmen were asked to give the number of different countries they had each
visited on business.

Here are the results.
0o 1 3 3 4 6 7 8 8 9 10 10 11 12 i4

Work out the interquartile range of the number of countries visited.

b@:}_(ﬁfl:l'?_ﬁ*\-m': 10
l-t-

e =@ = 4™ fem = 3
I—r

Tt = va-LQ q_
= (0=-3 (Total for Question 11 is 2 marks)
= "B
_—
5x—2 3-5¢ _ \ eloie Fockhons E:tv*k\*’
12 Solve —=+=—==2 S°\“df] mﬁ

Show clear algebraic working.

S‘L;'z- e AN =1

S'\-m{?\.d\-j L (S 1'2) F(2- -SI.) o 1
( oty T

() G(Sxk-2) ¥3 (2-S1) = 2%

W‘W AW -3 ta-\Sx =24

P telo g S 4 =A%
¢- V) Sx =5
(=5) X =xb a6

(Total for Question 12 is 4 marks)
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13 The population of China is 1.4 x 10°
The population of Morocco is 3.5 x 107

The population of China is & times the population of Morocco.

Work out the value of £.

q
Cluncs Li*ﬁg_._} - Yo
Moardce 5.5%I0

OSC “oue CM CULNTUR

.......................................................

(Total for Question 13 is 2 marks)
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14  Genevieve has two bags of marbles, bag A and bag B.

In bag A there are only 3 red marbles and 4 green marbles.
In bag B there are only 4 red marbles and 5 yellow marbles.

Genevieve takes at random one marble from each bag.

(a) Complete the probability tree diagram.

Bag A Bag B

red

red

yellow

red

green

yellow
(2)
() Work out the probability that Genevieve takes two red marbles.
o 2l oy
P('Q rﬂ) = - > =N
—g ‘.2_
(.
12

S - - W

(2)

(Total for Question 14 is 4 marks)
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w+4
w—2

15 Make w the subject of the formula p=

w

Qea.:rma*v}ﬂ Cowploy Formule

(ragt) | P =UEEP
pa.b""“l»w- w(_P’L— \) = L+Lp
= Lt+2p
LA D R X

il

............................................ p—|

(Total for Question 15 is 4 marks)
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16  The incomplete histogram and table give information about the lengths of time, in £

minutes, that some people spent at an airport. P =
d =
Cw
Time (f minutes) Frequency @ ¥e|
0<t<s50 SO 10 0.2 0= S0 =0-2
~ —_— -0 7
50<t<80 30 15 o =50
Fe 2
80<r<120  \p) 28 o F “4oxoF =~ 2%
3 =
120<2<180 (O 'S o) O X e It
180 <¢<240 (B0 12 e O 12360 20-2
240<1<320 QO 8 o | 1< 80 =0
r 3
o6
o3
0.6
oS
Frequency
density g+
03
0.2
o-|
0 N NEN | ,
0 50 100 150 200 250 300 350

Length of time (minutes)

(a) Use the histogram to complete the table.

(2)

(b) Use the table to complete the histogram.

(2)
(Total for Question 16 is 4 marks)
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T—'om}ﬂ s Schuia Quodsahcs

(2x+ I)em

Diagram NOT
accurately drawn

3cm
(x+3)cm et

The diagram shows a rectangular piece of card with length (2x + 1) cm and width (x + 3) cm.
A rectangle of length 3 cm and width 2 cm is cut out of the card.

The area of card that remains, shown shaded in the diagram, is 45 cm?

(a) Show that 2x?>+7x—-48=0

Aveo \uae_ (oA D)OUR) = 24 et L 42

= 2% + A

AR ScUl Ix 2 = 6
ol ok A = 2" +¥ e +3-6
oy = 2xF 43 -3
it -« 01
(+5) | @ S Wi @
—m—————
(b) Find the value of x.
Show your working clearly.
Give your value of x correct to 3 significant figures.

[~ A A
b=3

2x? +32-LWL=0

x =z -k Apilac

du..odﬂ'“‘:: g‘”"“"‘“

PN

= =(73) £/ 3)=u )48

'2-(7-) x =2.45
Le = BNS (35-[) &)
~. = —6.as (3&9) (Total for Question 17 is 5 marks)
Concluatesitn DimenrsSionS mosT be posihue - =36 g
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18  Use algebra to show that the recurring decimal 0.278 = %
et x = 023%
-~ 0-23FRFE...
Io%. = ?_.3_'57-6'?-57---- QoI = 1L+
= THe
2w =23.97% FTFE- . < 3
o ’ WO

loCo»¢ =133 3-8 > .

100X -0X. = 23-8-78F€ . ~
%e 7—:?—:.-.@ 7

R

(Total for Question 18 is 2 marks)

19 Express — L5 single fraction. A\QW Feochans
x—4 x-3
Simplify your answer.
Cross - (XD - (ruw)(-w)
——
(~1) (x-X)

espenol hp - 'L_L_?.-.)c_-l— 3% -9 - ['-ﬂ'..q.:LHk'x.-te]

(> -9 (>3)

ctloer[erprd | = Sk Ci’tﬁlﬂ-

(=) (x3)
— ‘X_,z" q ""1} t_&.é
C -;(_-Lﬂ(l‘zb)
% K., _===__=_-q..
(o)D) I & o) N

(Total for Question 19 is 3 marks)
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20 S—bx 53

Index Laws /Quadiabics

=125 where n >0

Work out the value of n.
Show clear algebraic working.

and\:am

a -~ =l

3
2sc s

Soluve

cr[\rev\ n ) o

(4

e 3
N +n -=3In
= =\ 5
e+
S
z
- S_z,n..tv\ ~T8 e 4 1l
q
S
e K
- 6?."\ Tn - ‘25—
- 3
an -Sa-8
S = B

Vin ~Sn=d T B

2n'-sA =0
(2n+3)(n=-%)= O
2ariz=o bR A% =0

2 _ .2 n =y

(Total for Question 20 is 5 marks)
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Diagram NOT
accurately drawn

Sy
vty *‘\d_‘}ﬁ
2 I
m—o
|

‘%_ﬂ'j'&wc}d&

The diagram shows a pyramid with a horizontal square base.
The vertex, P, of the pyramid is vertically above the centre, O, of the base.
The triangular faces of the pyramid are congruent isosceles triangles.

In triangle ABP
PA=PB=11cmand angle PB4 =72°

Work out the height, OP, of the pyramid.
Give your answer correct to 3 significant figures.

~ SmEP 'BE'P=P§P( ::q-{‘ (1soswles th«\Qu,)
H:’\B — 180~ FLO-71° (1R0Y w osi-r.'cy\ookg)
]
= 36
n¥ R AR i\
. Sin 36 sV FL
Si\(u Zulﬂ_ "

e B TR =B
( xSta(30)) gl T T 6. #1873

P

Hﬂ&'ﬂ'&‘aﬁ: ?
TEaANGLE FACE Bm = AL 3.7A9...

@ ”@ G.Q""ID-L": C_.'L

T
g2 Clt =C'-b .
a” =1*=3.394 = 10G.Lk, . . a =~Jaws =10.46

(Total for Question 21 is 4 marks)
a* = 1q U ... —I. S5 .. .

L

M a® = G3-ga--
3.¥A4.-.
@ Edexcel GCSE Mathematics (9-1) Practice Tests Set 8: Paper 3H — Spring 2019 17
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Diagram NOT
accurately drawn

A

o

A regular pentagon is drawn inside a circle of radius 6.8 cm.
Each vertex of the pentagon lies on the circle.

Find the perimeter of the region shown shaded in the diagram.
Give your answer correct to 3 significant figures.

ﬂr&mo\m&o
Pk = 3O

B
6 -

Laf
AYe <

4

ANS

-
- % ‘K’E[O\.
(d=6.€ x2)

“Toteul F_QJ\(\W

&QM wcy\ .- S Arionglad.

2e0=5 =F2°

5 s \ol+cf‘—2\oc. cos ¥\
v _ g.gt+6€ ~2(6-8)(6 &)cos (32)

o

a_q" = 62 00. ..,

a = 3.943..

Arc Lg_.-%ﬁ-(/\: %zé_o. x T x 12.6

= f.SLS-..

2.qq%. T €-5\u8.., =165 (2s§)
d&:S

(Total for Question 22 is 4 marks)
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A box is in the shape of a cube of side 11.5 cm, correct to 1 decimal place.

A solid spherical ball has radius 5.1 c¢m, correct to the nearest millimetre.
The ball is placed inside the box and the box is closed.

Work out the upper bound for the volume of the box that is not occupied by the ball.

Show your working clearly.
Give your answer correct to the nearest whole number. ;

Lo rﬂH/\ exsTen

QLALU s ervrod

{’.,OC" p il
(radu Ve )
CKQV'LCJ ”/\ MeL x)

ball ¢ (V= ST

bc]xam‘u‘f (\/; LKU L)

bty Space
M

)

4092 LSS MoK DT L=OOS

H: § )
[herS L

-

"-.\\
Q..o

c,.o’( S/ 1S Ma< &l L P oS

£f = _
g S:0OS mun

2, 03’"

We want cus i S\Yxf@— e'uw()tt’)q'g ?Q‘S{ sale (i He X

and we winct e baye fes e o \r:)t'(j [y S Pc,“f}:.r'bto_ L

"
‘ S - 3
.loa,u-L = M = 83, kb - om
[y % 5
' = JLgS XN-SSX I1-SS = ISLO, Q. - ¢
DHOX
moX
— 1540 F_ o — Sisq,uei;,,.
Cyn L
= 1OON3D.
= 10D lem ool

(Total for Question 23 is 4 marks)
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